

# On a Composite Functional Equation Related to Abelian Groups

K. Ravi<sup>#1</sup> & A. Ponmanaselvan<sup>\*2</sup>

<sup>1</sup>Associate Professor & <sup>2</sup>Research Scholar  
PG and Research Department of Mathematics,  
Sacred Heart College (Autonomous),  
Tirupattur – 635601, Vellore Dist., Tamil Nadu, India.

**Abstract—** In this paper, we investigate a composite type functional equation

$$f(xf(y) - yf(x)) = f(x) - f(y) + x - y \quad (1)$$

on an Abelian group. This is a new composite functional equation introduced by authors and we are interested in finding the various properties of the function desired on an Abelian group which is uniquely divisible by 2.

**Keywords—** Composite functional equations, Abelian groups.

## I. INTRODUCTION

The different types of functional equations like Additive, Quadratic are introduced by Cauchy and D'Alembert. These functional equations and its stability were discussed vividly in many research papers in the middle years of 20<sup>th</sup> century. Later, Cubic, Quartic and mixed type functional equations were introduced and its stability and many other properties were investigated by many authors [9, 10, 11, 14, 16, 19, 20, 21, 22]

Composite functional equations are very rare and very few mathematicians dealt and discussed its solutions and its regularity properties [4, 7, 17, 18, 24]. It is very hard to solve them than a non-composite one in general. In monograph [1] of J. Aczel, J. Dhombres studied the functional equation

$$f(x + f(y)) = f(x) + f(y) \quad (2)$$

for  $x, y$  belonging to an Abelian group  $G$ . It was proved that  $f: G \rightarrow G$  is a solution of the equation (2) if and only if  $f$  is additive and idempotent.

In 2001, in the American Mathematical Monthly [6] W.W. Chao proposed the following problem. Find every function  $f: \mathbb{R} \rightarrow \mathbb{R}$  that is continuous at 0 and satisfies

$$f(x + 2f(y)) = f(x) + y + f(y) \quad (3)$$

for all real numbers  $x$  and  $y$ .

In 2004, the solution of (3) was published by Henderson [12]. He showed first that every solution of (3) is additive and so  $f(x) = cx$  where  $c = 1$  or  $c = -\frac{1}{2}$ .

In 2006, Boros and Daroczy [4] generalized the problem. They proved that on an Abelian group with no elements of order 2, each solutions of the equation (3) is additive.

The composite functional equation

$$f(f(x) - f(y)) = f(x + y) + f(x - y) - f(x) - f(y) \quad (4)$$

on an Abelian group was investigated by W. Frechner in the paper [24].

The Golab – Schinzel equation

$$f(x + f(x)y) = f(x)f(y) \quad (5)$$

is one of the most important composite type functional equations. It has been considered for the first time by Golab and Schinzel [8]. Some applications of (5) and its further generalizations can be found in [2, 3, 5, 13, 15].

In this paper, we investigate a new composite type functional equation

$$f(xf(y) - yf(x)) = f(x) - f(y) + x - y$$

on an Abelian group. This composite functional equation is introduced by authors and we are interested in finding the various properties of the function desired on an Abelian group uniquely divisible by 2.

## II. MAIN RESULT

**Lemma 2.1** Let  $(G, +)$  be an Abelian group and if  $f : G \rightarrow G$  is a solution of (1). Then for each  $x \in G$

we have, (i)  $f(f(x)) = f(-x)$ ,

and (ii)  $f(nx) = nf(x)$  for each  $x \in G, n \in \mathbb{N}$ .

**Proof.** Replace  $y = x$  in (1), we get

$$f(0) = f(x) - f(x) + x - x = 0, \quad \forall x \in G,$$

That is,  $f(0) = 0$  for each  $x \in G$ .  
(6)

Now substitute  $y = 0$  in (1) and using (6), we have

$$f(xf(0) - 0f(x)) = f(x) - f(0) + x - 0,$$

Which gives,

$$f(x) = -x. \quad (7)$$

Similarly, if we substitute  $x = 0$  in (1) and using (6), we obtain

$$f(y) = -y. \quad (8)$$

Thus,  $f(f(x)) = f(-x), \quad \forall x \in G$

which proves (i).

By using induction on  $n$ , we prove (ii). For  $n = 1$  (ii) is obviously true. Assume the result is true for  $n - 1$ , now we will prove the result for  $n$ , by the induction hypothesis, we have,

$$\begin{aligned} (n-1)f(x) &= f((n-1)x) \\ &= f(nx - x) = -nx + x \\ &= (-nx) + x \\ &= (-nx) - (-x) \\ &= f(nx) - f(x) \end{aligned}$$

$$(n-1)f(x) + f(x) = f(nx)$$

$$nf(x) = f(nx) \quad \text{for each } n \in \mathbb{N} \text{ and } x \in G. \quad (9)$$

This completes the proof of this lemma.

**Lemma 2.2** Let  $(G, +)$  be an abelian group and  $f : G \rightarrow G$  is a solution of (1). Then

$$(i) \quad f(f(x) - f(y)) = f(y - x) = x - y$$

$$(ii) \quad f(xf(y) - yf(x)) = -f(yf(x) - xf(y))$$

$$(iii) \quad f(x(f(x) + f(-x))) = -(f(x) + f(-x))$$

$$(iv) \quad f(-y(f(y) - f(-y))) = f(y) + f(-y)$$

$$(v) \quad f(f(y)(f(nx) + nx)) = f(nx) + nx$$

$$(vi) \quad f(-f(x)) = f(f(-x))$$

for each  $x, y \in G, n \in \mathbb{N}$ .

**Proof.** By using the Lemma 2.1 (i) and subtracting (7) and (8), we obtain,

$$f(x) - f(y) = -x + y$$

$$f(x) - f(y) = y - x$$

$$f(f(x) - f(y)) = f(y - x) = x - y$$

for each  $x, y \in G$ .

Which proves (i). Now to prove (ii), from (1) we have

$$\begin{aligned} f(xf(y) - yf(x)) &= f(x) - f(y) + x - y \\ &= (f(x) + x) - (f(y) + y) \\ &= -((f(y) + y) - (f(x) + x)) \\ &= -(f(yf(x) - xf(y))) \end{aligned}$$

for each  $x, y \in G$ .

Now we prove (iii), put  $y = -x$  in (1), we have

$$f(xf(-x) + xf(x)) = 2x + f(x) - f(-x)$$

$$f(x(f(x) + f(-x))) = -2f(x) + f(x) - f(-x)$$

$$\begin{aligned}
 &= -f(x) - f(-x) \\
 &= -(f(x) + f(-x)) \quad \text{for each } x \in G.
 \end{aligned}$$

Similarly we can prove,

$$\begin{aligned}
 f(-y(f(y) - f(-y))) &= f(y) + f(-y) \\
 &\quad \text{for each } y \in G.
 \end{aligned}$$

Now we will prove (v) by induction on  $n$ , for each  $n \in \mathbb{N}$ , put  $n = 1$  in (1) we have

$$\begin{aligned}
 f(f(y) - y f(1x)) &= f(1x) - f(y) + 1x - y \\
 &= f(1x) + 1x - y + y \\
 f(f(y)(f(x) + x)) &= f(x) + x.
 \end{aligned}$$

Hence the result is true for  $n = 1$ , Assume the result is true for  $n-1$ , now to prove the result for  $n$ , then by the given hypothesis, we have,

$$\begin{aligned}
 f(f(y)(f(n-1)x + (n-1)x)) \\
 &= f((n-1)x) + (n-1)x
 \end{aligned}$$

$$\begin{aligned}
 f(f(y)((n-1)f(x) + (n-1)x)) \\
 &= (n-1)f(x) + (n-1)x
 \end{aligned}$$

$$\begin{aligned}
 f(f(y)((n-1)f(x) + nx - x)) \\
 &= (n-1)f(x) + nx - x
 \end{aligned}$$

$$\begin{aligned}
 f(f(y)((n-1)f(x) + nx + f(x))) \\
 &= (n-1)f(x) + nx + f(x)
 \end{aligned}$$

$$f(f(y)(nf(x) + n)) = nf(x) + n$$

$$f(f(y)(f(nx) + nx)) = f(nx) + nx$$

$$\text{for each } x \in G \text{ and } n \in \mathbb{N}.$$

$$\text{Now let } f(-f(x)) = f(x) = -x = -f(-x)$$

$$= f(f(-x)) \quad \text{for each } x \in G,$$

Which proves (vi).

This completes the proof of this lemma.

From now on we will assume that the group  $G$  is uniquely divisible by 2, (that is the map  $G \ni x \rightarrow x + x \in G$  is bijective). This allow us to split  $f$  into its even and odd parts that is defined by

$$f_e(x) = \frac{f(x) + f(-x)}{2},$$

$$f_o(x) = \frac{f(x) - f(-x)}{2}, \quad \forall x \in G$$

Clearly,  $f_e$  is even,  $f_o$  is odd and  $f = f_e + f_o$ .

**Lemma 2.3** Let  $(G, +)$  be an Abelian group uniquely divisible by 2 and  $f : G \rightarrow G$  is a solution of (1). Then

$$(i) \quad (a). \quad f_o(f(x)) = -f_o(x) \quad \forall x \in G$$

$$(b). \quad f_o(f(x)) = x \quad \forall x \in G$$

$$(ii) \quad f_o(f(x) - f(y)) = f_o(f(x - y))$$

$$(iii) \quad (a). \quad f(f_o(x)) = f_o(f(x)) \quad \forall x \in G$$

$$(b). \quad f_o(-x) = -f_o(x) \quad \forall x \in G$$

$$(iv) \quad f_o(f_o(x)) = -f_o(x) \quad \forall x \in G$$

$$(v) \quad f_o(nx) = n. f_o(x) \quad \forall x \in G$$

$$\begin{aligned}
 (vi) \quad (a). \quad &f(f(y) - f(x)) + f(f(-x) - f(-y)) \\
 &= 2(f_o(x) - f_o(y)) \\
 (b). \quad &f(f(x) - f(y)) + f(f(-y) - f(-x)) \\
 &= 2(f_o(y) - f_o(x)) \quad \forall x, y \in G.
 \end{aligned}$$

**Proof.** By using the definition of odd function and also using Lemma 2.1 (i), we obtain

$$\begin{aligned}
 f_o(f(x)) &= \frac{f(f(x)) - f(f(-x))}{2} \\
 &= \frac{f(-x) - f(x)}{2} \\
 &= -\left(\frac{f(x) - f(-x)}{2}\right)
 \end{aligned}$$

$$= -f_o(x) \quad \text{for each } x \in G$$

$$= -\frac{1}{2}(-x - x) = x \quad \text{for each } x \in G$$

Also using the definition of odd function we observe that,

$$(10) \quad f_o(-x) = x$$

$$(11) \quad f_o(x) = -x,$$

Which proves (i). Now, in order to prove (ii), consider the left hand side of Lemma 2.3 (ii) and using (10) and (11) and also using the definition of odd function, we obtain

$$\begin{aligned} f_o(f(x) - f(y)) &= \frac{f(f(x) - f(y)) - f(f(y) - f(x))}{2} \\ &= \frac{f(y) - f(x) - f(x) + f(y)}{2} = f(y) - f(x) \\ &= -(y - x) = f_o(y - x) \\ &= f_o(f(x - y)) \quad \text{for each } x, y \in G. \end{aligned}$$

$$\begin{aligned} \text{Now, } f(f_o(x)) &= -f_o(x) = \frac{1}{2}(f(-x) - f(x)) \\ &= f_o(-x) \quad \text{for each } x \in G, \end{aligned}$$

From this we proved (iii),

$$\text{i.e) } f_o(-x) = -f_o(x) \quad \text{and} \quad f(f_o(x)) = f_o(f(x)) \quad \text{for each } x \in G.$$

In the similar way we prove that,

$$\begin{aligned} f_o(f_o(x)) &= \frac{1}{2}f(f_o(x)) - f(-f_o(x)) \\ &= -f_o(x) \quad \text{for each } x \in G. \end{aligned}$$

From the proof of (iii) (b), we have

$$f_o(-x) = -f_o(x) \quad \text{for each } x \in G$$

That is,  $f_o(-1 \cdot x) = -1 \cdot f_o(x)$ , then obviously we have,

$$f_o(-n \cdot x) = -n \cdot f_o(x) \quad \text{for each } x \in G.$$

Replace  $-n$  by  $n$ , we reach (v).

Now take the L. H. S of the equation,

$$\begin{aligned} &f(f(y) - f(x)) + f(f(-x) - f(-y)) \\ &= -(f(y) - f(x)) - (f(-x) - f(-y)) \\ &= (f(x) - f(-x)) - (f(y) - f(-y)) \\ &= 2(f_o(x) - f_o(y)) = 2(y - x). \end{aligned}$$

This proves the part of (vi) (a), in the same manner we can prove that,

$$\begin{aligned} f(f(x) - f(y)) + f(f(-y) - f(-x)) &= 2(f_o(y) - f_o(x)) \\ &\quad \text{for each } x, y \in G. \end{aligned}$$

This completes the proof of this lemma.

**Lemma 2.4** Let  $(G, +)$  be an Abelian group uniquely divisible by 2 and  $f : G \rightarrow G$  is a solution of (1). Then

$$(i) \text{ (a). } f_e(f(x)) = -f_e(x) \quad \forall x \in G$$

$$(b). f_e(f(x)) = 0 \quad \forall x \in G$$

$$(ii) \quad f_e(f(x) - f(y)) = f(x - y) \quad \forall x, y \in G$$

$$(iii) \text{ (a). } f(f_e(x)) = f_e(f(x)) \quad \forall x \in G$$

$$(b). f_e(-x) = f_e(x) \quad \forall x \in G$$

$$(iv) \quad f_e(f_e(x)) = 0 \quad \forall x \in G$$

$$(v) \quad f_e(nx) = n \cdot f_e(x) \quad \forall x \in G$$

$$\begin{aligned} (vi) \text{ (a). } &f(f(y) - f(x)) - f(f(-x) - f(-y)) \\ &= 2(f_e(x) - f_e(y)) \quad \forall x, y \in G \end{aligned}$$

$$\begin{aligned} (b). &f(f(x) - f(y)) - f(f(-y) - f(-x)) \\ &= 2(f_e(y) - f_e(x)) \quad \forall x, y \in G. \end{aligned}$$

**Proof.** By using the definition of even function and by using Lemma 2.1 (i), we obtain

$$\begin{aligned} f_e(f(x)) &= \frac{f(f(x)) + f(f(-x))}{2} \\ &= \frac{-f(x) - f(-x)}{2} \\ &= -\left(\frac{f(x) + f(-x)}{2}\right) \\ &= -f_e(x) \quad \text{for each } x \in G \\ &= -\frac{1}{2}(-x + x) = 0 \quad \text{for each } x \in G \end{aligned}$$

Also using the definition of even function, we observe that,

$$(12) \quad f_e(-x) = 0$$

$$(13) \quad f_e(x) = 0,$$

Which proves (i).

Now, in order to prove (ii), consider the left hand side of (ii) and using the definition of even function and also using (7) and (8), we obtain

$$\begin{aligned} f_e(f(x) - f(y)) &= \frac{f(f(x) - f(y)) - f(f(y) - f(x))}{2} \\ &= \frac{f(y) - f(x) - f(x) + f(y)}{2} = f(y) - f(x) \\ &= -(y - x) \\ &= f(y - x) \quad \text{for each } x, y \in G. \end{aligned}$$

$$\text{Now, } f(f_e(x)) = -f_e(x)$$

$$\begin{aligned} &= -\frac{1}{2}(f(x) + f(-x)) \\ &= 0 \quad \text{for each } x \in G, \end{aligned}$$

From this we arrive (iii),

$$\text{i.e.) } f_e(-x) = -f_e(x) \quad \text{and}$$

$$f(f_e(x)) = f_e(f(x)) \quad \text{for each } x \in G.$$

In the similar way we can prove that,

$$\begin{aligned} f_e(f_e(x)) &= \frac{1}{2}(f(f_e(x)) + f(-f_e(x))) \\ &= \frac{1}{2}(-f_e(x) + f_e(x)) \\ &= 0 \quad \text{for each } x \in G. \end{aligned}$$

Using the proof of Lemma 2.4 (iii), obviously we reach (v).

$$\begin{aligned} \text{Now, } f(f(y) - f(x)) - f(f(-x) - f(-y)) \\ &= -(f(y) - f(x)) + (f(-x) - f(-y)) \\ &= (f(x) + f(-x)) - (f(y) + f(-y)) \\ &= 2(f_e(x) - f_e(y)). \end{aligned}$$

This proves the part of (vi) (a), in the similar manner we can prove,

$$\begin{aligned} f(f(x) - f(y)) - f(f(-y) - f(-x)) \\ &= 2(f_e(y) - f_e(x)) \quad \text{foreach } x, y \in G. \end{aligned}$$

This completes the proof of this lemma.

With the help of this lemma we may prove the following corollary.

**Corollary 2.5** Let  $(G, +)$  be an Abelian group uniquely divisible by 2 and  $f : G \rightarrow G$  is a solution of (1). Each of the following conditions are equivalent:

- (a)  $f$  is surjective;
- (b)  $f$  is injective;
- (c)  $f_o$  is injective;
- (d)  $f_o$  is surjective;
- (e)  $f(x) = -x$  for each  $x \in G$ .

**Proof.** Let us assume (e) then immediately it implies that (a), (b), (c) and (d) are true. We will now try to prove the converse implications.

If  $f$  is surjective, then by using Lemma 2.1 (i), we obtain  $f(x) = -x$  for each  $x \in G$ , similarly we can prove  $f(x) = -x$  if  $f$  is injective.

If  $f_o$  is injective, then using Lemma 2.3 (i), we get that  $f(x) = -x$  for each  $x \in G$ .

Finally, if  $f_o$  is surjective, then using the Lemma 2.3 (v), we observe that  $f_o(x) = -x$  for each  $x \in G$  and by Lemma 2.3 (iii), we obtain  $f = f_o$ .

In the next theorem we will solve equation (1) under flexible conditions.

**Theorem 2.6** Let  $(G, +)$  be an Abelian group uniquely divisible by 2 and  $f : G \rightarrow G$  is a solution of (1) and satisfies  $f(G) \subset -f(G)$  if and only if  $f$  is additive and  $f \circ f = f$ .

**Proof.** To prove the converse part let us find a  $y \in G$  such that  $f(x) = -f(y)$ . Then using the Lemma 2.1 (i) and Lemma 2.2 (vi) we obtain,

$$\begin{aligned} -f(x) &= f(y) = f(-f(y)) \\ &= f(f(-y)) = f(-f(-x)) = f(-x). \end{aligned}$$

Then  $f$  is odd. Using  $f$  is odd in Lemma 2.3 (iii) we obtain  $f = f_o$  is additive. The condition  $f \circ f = f$  has already been proved in Lemma 2.1 (i).

Obviously we can prove the converse implication, it is a straightforward calculation.

**Lemma 2.7** Let  $(G, +)$  be an Abelian group uniquely divisible by 2 and  $f : G \rightarrow G$  is a solution of (1). Then

- (i)  $f_e(f_o(x)) = 0$  for each  $x \in G$ ;
- (ii) if  $f_o$  is additive then  $f_o(f_e(x)) = 0$  for each  $x \in G$ ;
- (iii)  $f(f_e(x)) + f(f_o(x)) = -f(x) = x \quad \forall x \in G$ ;  
 $f_e(f(x)) = f(f_e(x)) = f_e(x) \quad \forall x \in G$ .

**Proof.** From Lemma 2.3 (iii) and (iv), we obtain

$$\begin{aligned} f_o(x) + f_e(-f_o(x)) &= f_o(-f_o(x)) + f_e(-f_o(x)) \\ &= f(-f_o(x)) = f_o(x), \quad \forall x \in G, \end{aligned}$$

This proves that  $f_e \circ f_o = 0$ . Further, if  $f_o$  is additive then using Lemma 2.3 (i) and (iv), we obtain

$$f_o(x) + f_o(-f_e(x)) = f_o(-f_o(x)) + f_o(-f_e(x))$$

$$= f_o(-f(x)) = f_o(x), \quad \forall x \in G.$$

This leads to  $f_o \circ f_e = 0$ .

$$\begin{aligned} \text{Now, } f_e(f_o(x)) &= \frac{1}{2} (f_o(x) + f_o(-x)) \\ &= \frac{1}{4} (f(x) - f(-x) + f(-x) - f(x)) \\ &= 0. \end{aligned}$$

This proves (i). We will try to prove (ii), Let us take the left hand side of (ii)

$$\begin{aligned} f_o(f_e(x)) &= \frac{1}{2} (f_e(x) - f_e(-x)) \\ &= \frac{1}{4} (f(x) + f(-x) - f(-x) - f(x)) \\ &= 0. \end{aligned}$$

Now we prove (iii) using the definition of even and odd function and using the Lemma 2.1 (i), we obtain

$$\begin{aligned} f(f_e(x)) + f(f_o(x)) &= -f_e(x) - f_o(x) \\ &= -f(x) = x \quad \text{for each } x \in G, \end{aligned}$$

This proves (iii).

Now to prove (iv), using Lemma 2.3 (iv), we observe that

$$f_e(f(x)) = f_e(x) = f(f_e(x)),$$

This completes the proof.

With the help of the above Lemma we can deduce the following corollary.

**Corollary 2.8** Let  $(G, +)$  be an Abelian group uniquely divisible by 2 and  $f : G \rightarrow G$  is a solution of (1). Then

- (i)  $f$  is even, if  $f_e(x) \neq 0$  for  $x \neq 0$ ;
- (ii)  $f$  is even, if  $f_o$  is additive and  $f_e$  is surjective;
- (iii) if  $f(G) \cap -f(G) = \{0\}$  then  $f$  is even.

**Proof.** Using the Lemma 2.7 (i) and (ii), we can easily prove the result (i) and (ii) of this corollary. In order to prove (iii), we use the Lemma 2.3 (iii) and also Theorem 2.6, we obtain

$f_o(G) \subset f(G)$ , but already we have  $f_o(G) = -f_o(G)$ . From this we arrive  $f_o = 0$ .

**Theorem 2.9** Let us take  $f : \mathbb{R} \rightarrow \mathbb{R}$  is a monotonic function. Then  $f$  is a solution of (1) if and only if one of the following possibilities holds:

- (i)  $f(x) = 0$  for each  $x \in \mathbb{R}$ ;
- (ii)  $f(x) = -x$  for each  $x \in \mathbb{R}$ .

**Proof.** Given that  $f$  is a monotonic function, which implies that,  $f$  is strictly decreasing or strictly increasing then we obtain,  $f$  is injective. Also using the corollary 2.7 we get  $f(x) = -x$  for each  $x \in \mathbb{R}$ . Suppose  $f$  is constant on an interval of a positive length. Then assume  $(a, b)$  be an open interval such that  $f$  is constant on  $(a, b)$ . Further by using Lemma 2.3 (i) and (ii), we arrive that  $f_o$  is constantly equal to be zero on the interval  $(a - b, b - a)$ . Use the Lemma 2.1 (ii) we can prove  $f_o = 0$  on  $\mathbb{R}$ . Then using the monotonicity of  $f$  we arrive,  $f = f_e = 0$ . which completes the proof of this theorem.

### III. CONCLUSIONS

We obtained very interesting result for the Composite functional equation (1), some of the result gives the idempotent properties. Some peculiar properties appeared in the above results will help the future reader to bring out effective application to various sciences.

### ACKNOWLEDGMENT

The authors acknowledge their sincere thanks to the Department of Mathematics and the Professors who helped to bring out this paper in nice form.

### REFERENCES

- [1] J. Aczel and J. Dhombres, *Functional equation in several variables*, In: Encyclopedia of Mathematics and its Applications, vol.31. Cambridge University Press, Cambridge, (1989).
- [2] Aczel, J., Golab, S. *Remarks on one-parameter subsemigroups of the affine group and their homo- and isomorphisms*, Aequationes Math. 4 (1970), 1-10.
- [3] Aichinger, E., Farag, M. *On when the multiplicative center of a near-ring is a subnear-ring*, Aequationes Math. 48 (2004), 46-59.
- [4] Z. Boros and Z. Daroczy, *A composite functional equation with additive solutions*, Publ. Math. Debrecen 69 (2006), no.1-2, 245-253.
- [5] Brillouet, N., Dhombres, J. *Equations fonctionnelles et recherché de sousgroupes*, Aequationes Math. 31 (1986), 253-293.
- [6] Choa, W. W. *Problem 10854*. Amer. Math. Monthly 108(2) (2001), 171.
- [7] A. Gilsnyi and Zs. Pales, *A regularity theorem for composite functional equations*, Arch. Math. (Basel) 77 (2001), 317 – 322.

- [8] Golab, S., Schinzel, A. *Sur l'équation fonctionnelle  $f(x + f(x)y) = f(x)f(y)$* , Publ. Math. Debrecen 6 (1959), 113-125.
- [9] M.E. Gordji, S.K. Gharetapeh, Ch. Park and S. Zolfaghri, *Stability of an additive-cubic-quartic functional equation*, Adv. in Difference Equations, 2009, Art. 395693 (2009), 20 pages.
- [10] M.E. Gordji, M.B. Savadkouhi, *Stability of a mixed type additive, quadratic and cubic functional equation in random normed spaces*, Filomat 25(3) (2011), 43-54.
- [11] M.E. Gordji, S. Zolfaghri, J.M. Rassias and M.B. Savadkouhi, *Solution and stability of a mixed type cubic and quartic functional equation in Quas-Banach spaces*, Abstract and Appl. Anal., 2009, Art. 417473, (2009), 14 pages.
- [12] Henderson, D *Continuous additive functions; solutions to problem 10854*, Amer. Math. Monthly 111(8) (2004), 725-726.
- [13] Ilse, D., Lehmann, I., Schulz, W. *Gruppoide und Funktionalgleichungen*. VEB Deutscher Verlag der Wissenschaften, Berlin (1984).
- [14] S.H. Lee, S.M. IM and I.S. Hwang, *Quartic functional equations*, J. Math. Anal. Appl., 307 (2005), 387-394.
- [15] Luneburg, H., Plaumann, P. *Die Funktionalgleichung von Golab und Schinzel in Galoisfeldern*, Arch. Math. (Basel) 28 (1977), 55-59.
- [16] A. Najati, *The generalized Hyers-Ulam-Rassias stability of a cubic functional equation*, Turk. J. Math. 31 (2007), 395-408.
- [17] Zs. Pales, *A regularity theorem for composite functional equations*, Acta Sci. Math. (Szeged) 69 (2003), no. 3-4, 591-604.
- [18] Zs. Pales, *Regularity problems and results concerning composite functional equations*, Tatra Mt. Math. Publication 34 (2006), part II, 289-306.
- [19] Ch. Park, S.W. Jo and D.Y. Kho, *On the stability of an AQCC-Functional Equation*, J. Chungcheong Math. Soc., 22(4) (2009), 757-770.
- [20] Ch. Park, *Fuzzy stability of an Additive-Quadratic-Quartic functional equation*, J. Ineq. Appl., 2010 (2010), Art. ID 253040, 22 pp.
- [21] K. Ravi, J.M. Rassias and P. Narasimman, *Stability of a cubic functional equation in fuzzy normed space*, J. Appl. Anal. Comp., 1(3) (2011), 411-425.
- [22] K. Ravi, B.V. Senthil kumar and S. Kandasamy, *Solution and stability of a mixed type quadratic and additive functional equation in two variables*, Int. J. Math. Comp., 13(D11) (2011), 51-68.
- [23] A. Tarski, *Problem no. 83, Parametr 1* (1930), no. 6, 231; Solution: Młody Matematyk 1 (1931), no. 1, 90 (in polish).
- [24] Włodzimierz Fechner, *On a composite functional equation on Abelian groups*, Aequationes Math. 78 (2009), 185-193.